oot
eSS, aXO00 00000000000

gooobbobooooon
oooobbggoooon
oooo

002204050






oad

O000o0o0o0oooO(@UooO)00ooo0o0oooooOO0o0Ooo (EOS)DOO0ODOOOO
goOoOoOeosSO0dOdOOOOOOOOOOOO E,e)OOO0OOODOOOOOO0O

E(p.6) = E(p,0) + Esyn(0)6? 1)

0000000000000000D00p000000000006000000000 (00,005
0000000000000000 6= (en-pp)/(n+pp)0000(1)0000000000000
0 E(p,0)000000000000000000000000 po~016fm3000000000
00000000000000000000000000000000 (200 <p < 500) 0 0 collective
fowdODO0O0O0DKOOOOOOOOOOOOOOOOOO00 [4J00000000000000
00 Eynlp) 000000p=p,000000000000000000000000000000
00000000 [200000000000000000000000000000000000
000000000000000000000000000000000000 (00000000
0)000000000000000000000000000000000000

00000000 Bao-AnLiDO0DOO0O0O0O0OOO0ODOOO0OOOODOOODOOOOOOODOOODO
0000 (@ apll0000000000 "0~ 0000000000000000000000
ObO00OO00OO0~ /z*000000000000000 Eyedp)00O0OO0D0OO0DOC0OOD0OOO0O
0000 [@BU00000NDD000oNOnoO 20090 7,10,110 000000000000 HIMAC
00000000000 400, 600, 800 MeYaucleonD 28Si0 000 MWnOoOODO0OODOODOODOO
000 ~*00000000000030,45,60,75,90,12000000000000000000
00 (150100MeV)0 #* 000000000000 00O0O0O0O00O0OO0O0O0O0OOO0O000OO0
000000000000 4000000000000000 »##*00000000000000
00000000000 -*000000000000000000#*0x 0000000000
000000007 0000000000000 7 00000000O000O000O0O00O0
00-*0000000000000000 GeantdDOOODOOO0ODOOO0OO0OOO0OOOA*OO
0000000000000000x /#*00000000000000DO0OOO0

& T
60
2 :
= [ x
240 B
g
7o 2t
M 20
B 1 L 1 1 1 L
o b 0.2 04 06 08 1 1.2 14
060 05 10 15 20 25 30 0 /pn Ebeam(AGeV)
, : +
0 a: dencity dependence Bt,yn{p) O b: beam energy dependencerofr* from

Au+Au reaction



0O

010
1.1
1.2
1.3
14
15
1.6
1.7

020
2.1
2.2
2.3

2.4
2.5
2.6

030
3.1

3.2
3.3

3.4

Introduction

0000000000000 .. .. e e e e e e e e e e
00000 BEOSOODO . ... e e e e e e e e e e e
000000000000 ... . e e e e e e e e e e e e
fireballO O . . . . . e
BEVALACO O OO . ... s s s
0
OOO0O . e e e e e e e e e e e e e e

agood

D000 . . e e e e
HIMACOOOOOO ..t o e e e e e e e e e e e e e e e e e e e e
000000000000 0000 ... e e e
231 000000000 ... e e e e e e e e e e e e e e
232 000000 . . e e e e e e e e e e e s e e
233 000000 . e e e e e e e e e e e e e e e
Multiplicity Array . . . . . . . e
OOOODODO0O .. e e e e e e e e

gd

I
3.1.1 pedestal . . .. ...
312 0000000000000 ... e e e
313 0000000000000 ... e e e e e e
314 RangelO (SRIM)OOODO . ...ttt e
3.1.5 00O Gate:Slewing Correction . . . . . . ... ... ... ... ...,
OO0O0OPID . ... e e e e e e e
A OO0 e
331 AFOOOOD0 ..o e e e
332 000000 ..o o e e
333 000000 ... e
OO0 e
341 AEO0OOD0 ..ot e
342 0000 ..o

N ~NUaN R R R

© 0

10
10
11
12
14
15
16
16
18
22



040
4.1

4.2
4.3

050

ogdB
B.1

oocC

3.4.3 MultiplictyDOOOOOO -t 000000

go

rsfOoOoOoOOOOOOOOODOOOOOOOO
411 7000000000 ... e e

4.1.2 Lorentz-invariant cross section

AA00000000000000 ... e
a /0000000000000 ... e

od
longitudinal rapidity:y

gboooogoo

UO0O0000000000 ... e

pid

71
71
71
72
76
77

79

80

82
82

84



[

1O

11 Eme)OOOOOO0 ... e e 3
1.2 1BUUOATO O . .ttt e e e e e e e e e e e e 4
1.3 0000000 . . e e e e e e e 6
21 HIMACODODODO . .ttt e e e e e e e e e e e e e e e e e e s 8
22 0000000 . . e e e e e s e s e e e 9
23 OD0000OD0D0000O00O00000000 ... e e e e 10
24 000000 . .. e e e e e e e e e e e 13
25 000000 (OO) .« vt v e e e e s, 14
26 00000000 OO0OO0O0O .. .. e e e e e e e e e 15
27 PMTOOOOO . e e e e e e e e e e e e e e e e e e e 16
2.8 000000000 ... e e e e e e e e e e e e e e s 17
29 00000000 . .. e e e e e e e e e e e e e 17
2100000000000 . . .t e e e e e e e e e e e e 17
211 00000000000000000 . ... 0t e e e e e e e e e 18
212 PMTOO NIM OOOOOOO + o 0 e e e e e e e e e e e e e e e e e e 18
213000000 . . .o e e 20
214 FPGAO O DOODODO . . ot e e e e e e e e e e e e e e e e 20
215 00000000000000 . . . e e e e e e e e e e e e e 21
216 RSEOOOOOOOMO . .0t e e e e e e e e e e e e e e e e e e e e s 21
217 pedestdl O . . . . . . o e 22
3.1 pedestall fit . . . . . . . .. 24
3.2 CosmicRUMI O OOOOOOO0 ... e e e e 24
33 0000000200000 . . . v vt e e e e e e e e e e e 26
34 000000000 ... e e e e e e e e e e e e e 26
35 00000000 . .. e e e e e e e e 27
36 D0O0O0OO000O0 chOODO ... .. e e e e 28
37 30mmOIOO0O00000000000000 & . ...t 29
3.8 ADC6OOOOODODODO . .. it e e e e e e e e e e 29
39 DO00000O0O00O00 (OODO) .. e e e e e 31
3.10 Slewing Correction. . . . . . . . . . .. 32
3.11 TDCO Fit . . . o e 33
312 PIDOD .. o e e e 34
334 000000000000 . ... e e e 36
3.14 decaycurve (Fit). . . . . . . . . 37
3.15 TDC2-TDCL . . . . . . e e 38
3.6 00000000 . .. e e e e e e e e e e e 39



3170000000000 (EOO) . v o vt e e e e e e e 40

31800000000 . .. e e e e 41
3947 00000000000 . . o vt e e e e e e 41
3204t 00000000000 (A10) + v v oo e e e e e 42
3.21 ADCODODODODODNO . . . . o e e e e e e e e e 43
32x7x* 00000000000 (200800) .+ . v v v v e e e e e 43
B23 OO0 . o e 45
B24 00 OO0 .ttt e e e e e e e e e e e e s e e e 47
325 geantl DO OO0OD0OOOO ... e e 49
3.26 geantl OO pid . . . . . . . . 50
327 AEFIt . . . e 52
328 SOO0 AEOOODOODO . .. e e e e e e e e e e e e e e e 54
329 SOOD0ADCOOOODOOODOONO ... 0 e e e e e 55
330 00000000000 . .. e e e e e e e e e e e 57
3310000000000 . . . v e e e e e e e e e e e e e e e 59
332 0000000000 . . e e e e e e e e e e e e 59
333 SO00 AEOOODOONO ... e e e e e e e 60
3.3 SOO0O ADCOODOODOOOOON ... e e e e e e e 61
335 SOO0 AEOOODOODO .. e e e e e e e e e e e e e 62
3.36 SO PID . ... e 63
B37 a7/ O o o e 66
B33BOOODOO .. e e e e e e e e e e 67
3.39 multiplictyd . . . . . . e e 68
34000000 (DOOODO) © o oottt e 69
341 00000 (@ O000) . . v e e e 70
4.1 000000000000 . ... e e e e e e e e e e e e 74
42 O00000000D000D00O00O00 & ... . e e e e e e e 75
43 000000000000 0ODOOO(@OOOOOO00) @ ... .. 76
44 /a7 00 7000000 . ... e e e e e e 77
Al rapidity vs B/m, OO OO . . . . .. . e e e e e e e e e e 81
Cl S,O0SO000000000000 ... e e e e e e e 84



[

1O

2.1 0000 .. e 9
22 000000000000000@O00) . oo e et e 11
23 000000000000000@O00) . oottt 12
24 lonChambell OO0 . .. ... e e e 15
25 LeCroy2249WI O OO0 . .ottt e e e e e e e e e 21
26 AMT-VMEOODODODO ... oo e e e e e e e e e 22
3.1 000000000000000000 ADCO chDOOOOOOOOOOd .. ... 25
3.2 ADC6OOOOOOOOOOOOOOO(Ch) . .. ..o 28
3.3 ADC60 chOOOODODOOODODOO © .o e e e e e e e e e 29
3.4 ADCZIADCI120 calibrationD O (7000) . . . . . . ..ttt 30
3.5 ADCZIADC120 calibrationD O (10000) . . . . . . o v v vttt 30
3.6 ADCZI ADC120 calibrationd O (11000) . .. . oo v vttt i et 31
37 AEGateD OO0 7t OO D00 .« ottt e e e e e e e e e e 53
38 a/at000000 (FOODO) + vt e e e e e e e 65
39 A /at000000 (0OOD) . o o vt e e e e e e e e e e e 65
3102 /7" 000000 (L2000) .+ + v vt e e e e e e e e e 65
41 /0000000000000 @O0 ubhsyMeV) .. ... ... ... .. 72
42 Ne+NaFOOOOO 4" 0000000000000 (OO0 ub/syMeV) . . . . .. 72
43 Ne+PbDDDDD 21 0000000000000 (0OO ub/syMeV) .. ... .. 72
Bl DDDDOOOOOOOOOO ... oottt e e e e 82
B2 DDDOOOOOOHVO (V) oo vttt e e e e 83
B3 DDDODOOOOOOOO (nsec),dO (Q) .« .« v v v v e e e e e e 83



010 Introduction

1.1 000bOo0ooobobooon

O0000000000000o (Coooo0)00000000oOoO0OooO0O0OO (Equation
of State: EOS 000000000000 OODOOEOSOUONOODOODOOODOOOOOO
oooooOoooooooooooooOosooooOoOOOOOO00OooooooDOOCOD
OO0O00O0OeosCOoOOOOOOOOOOOOOOO E(e,o)yboooooooooooooo

E(o,6) = E(p,6 = 0) + Esym(p)8? (1.1)

00000 [B00000p,0000000000000000000 (00ppes)000000p = pp+pn
0000600000000000000000006= (on—pp)/(en+pp)000000000000
0110 E(,6=0000000000000000000000000000000000000
00000000000Egym) 00000000 (symmetryenergy)) 0000000000000
00000000000000000000000

O0000Eyme) 000000000000000D00000D0000000000

L (p-po) . Ksym(p—-po\’
E =E = 1.2
o) = Esype) + 5 (222 + Som (22 1.2
O0000LO KgymO 0O
OEgsym(p) 0%Esym(p)
L = 00— lp=pos O Ksym = 905 ——"5— |ops 1.3)

dp 0p?
OO00000000ooo [hloL000o0dooooouooooooooooon [e]jo
DDDDDDDDDDp0z0.16frrr3DDDDD6D O0O0D0O0D0O00D0DOd iscbaricOOd OO0
0000000000000 KeOOsOOoooooo [710

K(8) = Ko + Kasyd® (1.4)
OD0O0D0KayO LOODOD

Kasy =~ Ksym - 6L (1.5)
0o000oO0o0oo0ooa0 [8)o

1.2 00O0O0O0OEOCSOOMO

0110 E(p,6=0000000000000000000000000000 pp~0.16 fnr 0
00000000000 000000O000O0000O0OOOEOO0ODO0OO Ke=231+5MeV O
000000000000 0O0000 po0 p00 ppUO0OO0OO0OOOODOOOOOO collective flow
OO0 10000000 KOODOOOOOO [10]l0KeO 2100300MeVO O OO OOOOOOO
oooooooooon



000000000000000000000000000 EOSOO0O0000C0 19600000
0 Brueckneretald 00000 O (1100000000000 0000000000000000
0000000000000 0000000000000000000000000000000
000000000000000000000000000000000000 EOSOOOOOO
0000000000
0000000000000 0000000000000000000000 EOSOOO00000OO
000000000 10000000000000000000000000 NSCLOO SMSnO0
00000000 p0 pp0 000000000000 Esymp) ~3.16% (0/pe)t.05000 00000
0LO000085:25MeVI 00 0000000000000 OODOOORCNPOOO400AMeV
0000000000000 O0SNI0000000000ONNNNNNNNNNNNONoNoooo
0 O Kasynr=-550+ 100MeVO 00000000 [121000 Op=po 0 0000000 liquid-drop mass
foromulaD0 000000000 30MeVO OOOOOOOO0O000O0O [13]0

O00000000000000000000000 p0 po0000000000000000
0000000000 (1.3)000000000000 GSIO FOPIDOODOOOD ((14)0000
000000000000000 [15],[16]0

1.3 J0oboooooobooon

g0oo0o0o0ooO0obOO0bOd0OOoO0ooOOooOOobOOobObOobo OO0 O0O0OOOOODOoDbDODbDOO
goooooooooobobboooooooooooooooooooooooooooon
00000 DoOO00oDO00D0o0DoD00o00oo00oo0o0DoOoDoDOoDoDOoooDOoooooOog 20
ooooboooboobooboboboboooboobooboobon

0o000bo0obo0oboo0obOobob pd ppUbbbOd0b0O0ObUO0obOUObDUOObOoODbODOg
NSCLOO SmSnO 00000000000 000000000 2000000 p0O poO0O0OO
gbooooooboooban

oboobooooobobooooooboboboboboobDoooobooboboobooboooboog
goobob ooboobboobooobobobDbobobuobobooboobouboobooboo
gooood

00O Relativistic Mean Field] Brueckner-Hartree-Fock approadi] Esym(p) 000000000
000 [17]0 Variational Many-Body theory] Skyrme-Hartree-Fock approath Esym(p) D00 00O
000000000000 [A8)(0 1.100)0



a0 T I T

[
Skyrme-Hartree-Fock
with 21 parameter sets

T 80 T T T T T
70 70

60 60

50 50

40

(p) (Mev)
(p) (MeV)

40

E
ym
ann

30 30

20 20

10

N
W
P T T I A A

0.0 0.1 02 0.3 0.4 0.5 0.0 0.1 0.2 0.3 0.4
p ()

o
w

0 1.1: Eym(p) 000 0000O(O )Skyrm-Hartree-Fock (20 O O Skyrm Interactiorid 0 O )[17] (O )Rel-
ativistic Mean Field[18]

OO0O00D00OBao-AnLiDOD0OD0OOOOOODO IBUUOS (isospin-dependent Boltzmann-Uehling-Uhlenbeck)
O O isospin and momentum-dependent mean field poteftidD 0 O 000000000000 0OO
0000000 poO0O00000-00000000000O0O0O0O0O0O0OOOO0O0 [3]0

o -1 ,
Pr P 1Y 2 B P ZCT"[ 3 ft(l", ﬁ )
U(p, 6, B, 7) = Au(X)—+A x—+B(—) 1-x6°)—-8xr — 6, +Xterr fd
(0:6.5.1) = AITE LA | (o) 4 = PR T
(1.6)

O0000p,00r=1200000-/200000006=4/30f(r,p)0000000000O0OO60O
OO0O00oO0oO0ooooogoAdx, A(x),B,C.t, AD OGogny Hartree-Fock Brueckner-Hartree-Fock
OO0 UGp,6pr) 0000000000 0OO00OOOOOOOOO

Bao-AnLiDOOOOODOOODOO 1600000000 xO0000D00O0OO0OOOODOOOOOO
00000 Eymp) 00000000 (0 1.200) 0000000000000 xOOODOOOO
000000 p0000 Esympy 00000000000 DOODOOOO

0120b)00SmSNnO00000000 400AMeVOD 000000000 » Gr*00000 Esym(p)
00 xOOOooOoooo)ooooooooooO0o0oooooo000o00 »~rf 000 (0O
0)0000000 Egymle) 0000000000000 OOODOOOOOO

0000000000000000000000000012(c(dco0000oooooooon

NzZOODDODOODODOOoooooooOooxbooooooooooboooooooooobooooo
googoood



T T T T
100 T T T T T T T T 77 1.6  182gp4124gn A
- MDI interaction 2 : E(a,=400A MeV
L . / E b=1fm
80 _— /' —_ 15+ .
< B /./'1 ] = LI
60 . -~ 5 L < A
% | Y - - i E‘ 1.4 /
= B a - N 3
N L =770 1 2 e
£ N e B 13 F 1
w' = ] / AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
- E — = -3
20 ~Z2% x=1 — 08t . g P A
C S 10 s s DR e e s o etk s
Vo ]
0 L | 1 | 1 | 1 | 1 | 1 05 1 1 1 1
00 05 10 15 20 25 30 2 g 2 !
p/p, X parameter
(@) Esym(p) 0 x0ODOOOO0D ()rr* 0000
2
I 18 _ mAqumAu
4 I
_ 3 1ef M
I o FOPI [ 1afan] o
L A MDI x=1 L LE o~z
. © MDI x=0 L F "Ru"Ru04 AGeV
3 ¢ IQMD + T S S A
I S b/b ' §T E,n200
+ L ? s
B0 B2 o~zy
e L
2'_ ¢ FOPI
—— MDI x=1
i 0. 40 -=3=- MDI x=0.5
Ca="C -@- MDI x=0
1k % IQMD
i . . . . . . FFNIT EPTETITE BT BT N R ITE NI AT I EITAr B
15— 02 04 06 08 1 12 14 0.9 1 1.1 1.2 1.3 14 15 1.6
E, ..m(AGeV) (N/Z)
()r*/r~ 000000000000 (d)7t/~ 00 NZDOOO

0 1.2: (a)0 Esymlp) 0 xO0DO O OO0 D00 D0(b)I(d)BULAOOOO0O00000000000 n*/a
000000 XO0O0OO0OO0O0000000000NZOOOOOOOOO0O0000 [3]0

00000 Eym(e) 0O0O0O0OO0O0O0O0O0O0O0O00O00O00O000000O00O0O0O00OO0O0O00OO0
Oo0o0ooooooo /00000000 0O00OODODOODO GSIO FOPIDOODODDOCODO
Oo@Uooooooooooo)o

oo0000oooo0o0o0ooooo0O -~ /a*0000000000O000O00COOOO0O0O0O
ORBFOODOODOOOOODOOOODODO



1.4 fireballO O

012@D(c)0 IBBUMODODOODOODODODODODODODODODODODOOOOOOOOODODODOOOO
0000000000000 0000000000000O00O00O0O0OOooOoooOOO (fireball)
obOoobOoobobooboboboobooboboobooboOoooobooobooboooboan
Eyme) 00000000000 O00O0O0O0OOO0OO0DOOOO

oo 000000d0»~~0000000000000000000O0ODOOOOOOCCO
ooooooooo

7~ BN2+NZ (N\?
F:mz(f)
O00[19000D00NZO0D0O00DOOODOODOOOODO0DO0O0O0DOOO0OO00O0—00
00000000000~ 0000000000 OfireballDD0000000OfireballD0000
O~*0000 firebalJODDODOOODODOOODOO0ODODODOOOO firebalODDDOO #*
OOOON/ZD (ZN)2Dooooo
00000000000 00D0D00 »/2*0000000000O0O0OODO ZNOOODOOOO
O00000Eymle) 0000Ofiraball00 N/ZOOOOODOOOOOO0O0000000O00O00000OO

(1.7)

1.5 BEVALACOOOO

19700 0 0 0O O Lawrence Berkeley Laboratory(LBLL) BEVALAC 00 000000000 OO0O
0000000000000 0 »~*000000000 [20,[21]0000000 130000000
0000000000 AppendixAO OO



- S A
o5k o

¥y

730 MeV

-10 —05 0.0
Rapidity (y)

Rapidity (y)

(d)

Rapidity (y)

1.0

ooy

_ 800 MeV/N

1.5

PJ."O

mnr

(f)

0s

.
PRI

0.0 05
Rapidity (y)

O 1.3:00 rapidity:ydO O xD 0000000000000~ 00000OC0OCOCOCOCOO

00 O(a)p+p 730MeV, (bJONe+NaF 400AMeV, (c30Ne+NaF 800AMeV, (d)g-Pb 730MeV, (€30Ne+Pb

400AMeV, (fPONe+Pb 800AMeVI 00000000000 mhysyGeV?P O OO OO 0yr,ye,yp 00O
O O O Target,Mid,Projectile rapidity 0 00 00 OO [21]0

0 130000 @) 0 p+p 730MeV, (b)O 20NerNaF 400A MeV, (c)J 2°Ne+NaF 800A MeV, (d)J
p+Pb 730 MeV, (e)J ?°Ne+Pb 400A MeV, ()0 2°Ne+Pb 800AMeVO 00000000 DO #»* 000
doooooooooyvskR/m.)00000000000000000

(@), (b), (00000000000 000000000000000W),(e),(H0000000O0

obooobOoboooooboboooooboboooooboonono



0000000000 (@p+p, 730AMeVO D DO DO00000000O (b)* °Ne+NaF, 400A MeVD
0000000000000 0000000 »#*00000000000000000D0D00000
OO0 (p+p - p+A - p+r+n00000)000 0000 OO (c)*°Ne+NaF, 800AMevO 0O 00O
000 (@U0O00000000000000mIdrapidityD 0 (000 ye)00D0000000000
(b)) 000000000000 00DD000DDO mdrapidtydDO0DDO000000000O
00000000000 D0midrapidtyd 000 Firebal JDDDODOO0O000O0DDOO singleA(d
O0D000000O0ONNDOOODOOODOOOA)ODOOODODOOO »*000000000000
000000000000 00000000000000 ADOODOO 70000000000
0ooO0ooOooo
0o0O(),(e),(ND 0000000000000 000000D000000D000D0O0On
oooooooo

gbobodobbooboooboobbdg~0obboobobooboobboobboooba
gooooOoOoOoOoOoOOOOOOOO0OOOOOOO-A*O00O0OOOOOOOOOOOODODOO
goboooboooobbooboobboooboooboboooooobooo0~00O0O00DbOO0bO
goooooooon

1.6 JOOOOO

oo0o00o00o00o00ooO~r/r*O000000000000CCOOODOOOOOOOOOO
0000000000000 O0-~"(0D00O00D0O100MeV) DO OOOOOOOOOOOOODOOO
150000000000 00000b00~0000D00D0OD0OD0ODbDOOOOOODOODODO
gbooboobOoboooboooobooboobooobooboobooobooooboOoobooobooon

goboooobooooboooobooNzZODOODOOOODOOOODOOODOOOODOOObOODOD
O00oo0o0o0o000000ORBFODOOOODOOOODOOOODODOOOODDOOO

oooooOoOoooOoOoOOODODODOOOOOO0O000000000000000000OHIMAC
goooOoOoOOO0O0~0000000000Ak*0000000000O0OOOOOODODOLOO
000000-0000000000000000000C00O0OO0OO0O00OR /7*00000OEOSO
goooboooboo

1.7 0OODO

O

000000000000000 HIMACODODODOOOOOOD 400AMevVO ¥2Xed InO 00
000000000000 «~*00000000000D0 1200000000000 N/ZOODOOO
ooooobboooooooboooboooooboboooooboooooboooooobooboboooDoo
oooooboo0ooooobobo0oOooooboOobOoooooHIMACODDODODOOOoODODOO
800AMeVO O OODODODODOOOOODODDOOOOOODOOOOODOODDO®Si0000O0O0OOO



020 0000

0000000000000 HMACOOOOOOODOOODODOOODOOOUODOOOO (OoOO
goooOoOoOO)oooooooooooooogoood

21 0OO0O0O

000000000000 0ooooooDooooOoOog (Heavy lon Medical Accelerator in Chiba:
HIMAC) 0000000000 21000000000000000000O00O0O0OOOOOOOO
0000000000 0000000O0000000000O00OO0O0ODOO0O00 (RQFOOODO
0000 73nmJ 000000000000 24mO00O00O0O 7MeVyN(DOOOOOOOOONO)
oo0o0O000U0ooOoOU0O000ooOoOoOoOOoO0oOoOoO(@oooOoO42mMdoOOIMUOOOn
000oOdOooOosoOMeyNOOODOODODODODOOHIMACOODOOODODOODODODODOOODOOOO
0000000oooo0o00o0ooOoOo0o0Oo0o0oo0ooU0oOooooOoOODooOoOooOOn
oooo

PELLH B U2k € — ARG

0O 21L:HMACOOOO

02200000000000000PH20000000C000DOCOO00DOOODODOOODO
ooooOo0O PH200000O0O0O0O0O0O0O0O00O000000000O



WA ZV2RE — LB FEREX

?@*-@ o @,

22 HMACOOOOOO

0220000000

goooooo0o0oooooOopoooO0OooooDooOoOoDoO 22000000

0210000

D0000 000000000 (MeV/n) [ 0D0000O00DO (mgen?)) | 000D (@) |
20080 110 132Xe : 400 In: 328.5 30,45,60,75
20090 70 285 : 400 In: 328.5 30,45,60,90,120
20090 100 285 : 600 In: 328.5 30,45,60,75,90,12(
20090 110 285 : 800 In: 328.5 30,45,60,75,90,12(

0210000000000000O0DOO0ODOOO0OOOOODOOO0OOOOODOODODOO
O00o0o000oooooooob 12o0ooooooooooooo ZNODODOOoOQoOooD
0000000000000 0000 12(c)0000000000D00DOO0O0OOOOOOn0 400,
600,800 AMeVD 3000000O0DOCOCOOOO0O00OO0 2100000000000 00O00O00O0OO
000000000000000000000 In000 36.5mgenf0000 900000000

gooood

)
)



23 JOO0OO0oooobooobooooo
231 00O0O0DOOOOO

0000000000000 0O0O000000COO0O0ODO0O00000OOOO0OD (WEA)OO

O0000000000dedxO000 (range)l 000000000000 00OODOO0OO0O (Range
CounterD 00000000 ODOODOOOOOOODOOOOOOOOOOOOOOOOODOOOO
goo0oOoO0OO0OO00o00O0OoOoooOoOOoO0OO0OO0-~*0OC00O00O0DOOOOO0OOOOOOOCO
OO00OO0O0O0O0O0OD0O0O0OD@OOO0O0OD0O0OD0OD 23.2000)
000000000000 0000000000A" 0 »~ 00000000000000DOD0O0D
000000000 ~*099.990 0000 00000 (7" »u"+v,000000 26nsecyOO
gooOoCOOOQOOQOO0OO0U000O0-~*O00000O0p OCO0COCOCOOODODO 41MevOO
goooOoOoOoOoooOwpr0O0O0O0O0O0O0O0O0OO0OOCOOMMOOOOOOOOOOOAx*O0O0OO
O0000-*0wp*000000000000O0O0O00O0O0O0O0OO0OO0OO0O0ODODOO0O0O0O00
02300000000+« 00000000QCCO0OO0ODOO0OO0000OOOOODOD(@EOUOOOOOO
oo00)00o0o0o0O0000O(@ stO000 ».* 00 ndODODOO pH)OOOOOOOA*0O00OOOO
gooooboobooooboboooboboooooboboooooo

Counter
name A B C D E

@)
@)

7

Y

> I35

023:0000000000000000000O0COOO0OO00D0DO0ODOODOO0O COOODOO #t
Op 0000000000000

000~ 00000000000000000*0 2~ 000000000D00O0O00O0ODODOO
O0000ooooOo0oO0oO00o0oooOo0o0o0ooooooooooooOa 0 00oooon

10



000~ 0p O0OO00OO0O0O000OQC0COOOO00O00OOCODOO0O0OOCOO(@EmOUoUoDOoOoO)o
obobooboboboboboboboooboooboboobobobobobobOoboobDoo
oboobooboobbbobod~~000b0b00bobo0oboooobo0oobooboobo~0ooo
OO000O0o00DO0O000OOo0o0ooO0o0oo0o0O0O 14oMevODOOODOOOODOODOODODOO
oboooboboooboooooboooboobOobooooboobooboboooboooooboOooon
ooboooboooobooobooooobooooooobobooobooboooobooobobooobo
gboboobooobooooboooobooooboooooobooooboobooboOoobooooboOoooo
rfO000Q0Q0QoQooooooo

232 0DbOoOoOoO

00000 1200000000000 00000DOOO00O0ODODOO0OO0ODODOOOO0ODODOO
gooboooooooboooboobboobooooobooobooooooooboooooboooooon
obooobOoboooobooboooooboboooobooboooobobooooooo

0ooo0o0o0o0oooOo 22000000000000000000O0D1200000000
OO0000000OROR1OO0O0O0ODDOOO

022.000000000000000@OOO)

DOO00D0000 |00 (mmxmm) | 00 (mm) |

Ro 50 x 50 2
R 50 x 50 2
R, 100x 100 15
Rs 100x 110 30
Rq 120x 120 30
Rs 120x 120 30
Rs 120x 120 30
Ry 120x 120 30
Re 120 120 30
Ro 120x 120 30
Rio 120x 120 30
Rt 150x 150 5

O000ROROIDODDOODODODODDODDOD hitOODO0/0000000000000ODOODODOO
O000000000ooooooooooooooooD spOvetcODODODOOOOOOOCODO
Oo0oo0oooooo@Euouooooo [20,[21)c00oooooooooooooooooo
0000000000000 00000000000 (RREUR)DO0OC n00OOOOODOOODO
0000000000000 000000000000O0O0O0D0O0000000O0000 4000
Ub0-~0000000O0O0OC0OO0OOO0DOOOODOOOO AODDODOODOOOOOODOOOOOOO0
OO000O0000O000D0O0000000D0 RR,ODOOODODOOODOOODODOR 000 15mm

11



OD0RROODDOOmmOOOODOOOO0ODOOOOODODOOO0ODOOO0O0ODOO 1I5SmmOO0OOO
00000 -*0000000 12MeVOOOOOOODODOOOOODOOOOOOOOO mmOOO
oo00000oooO0O000ooooOo0o0o00oooooOR 000004000000 000O
obooooooboooogon

oOoo0o0oO00ooOo00DOo0 DR OROODO0OOOO0mMmmOO0OO0O0O0OC0010mmO0d
cooooi1ggoosommbO0O0OOOO0OO00000000OODODO0O0O0OOUOODODODOOOOO
goboOmmObOO0O0b0OOoO0obOOoO00bOO000bO0o0bo0obo0ooooobooooobooooDo
O00o00oDo0O0000oooooOoO0o0oooDoooOObO0oooDObGeantOOOOOOO
oooooooooooooooOoooooooooOooooooDobooOo 230000000000
OO00000O000o00oo0uM0o0poo0o0ooopoooooooSssoggoooooooon
Si4s0000000000000000C0000DOOO00O000OOD0O00O vetoDOOODODOOOO
oboooooboobooooobOoboboooboobOOobobooooboOooboOovetocOOOOOOOOO
gbooobooboooobobooboobooboooobobooobooboboooboOoboooon

023:000000000000000@OO0O)

000000000 |00 (mm) | 00 (mmxmm) |

S 2 50 x 50
S 2 50 x 50
S 5 60 x 60
S5 5 60 x 60
Sy 10 70x 70
S 15 100x 100
Ss 30 100x 110
S 30 120% 120
S5 30 120% 120
S 30 120x 120
Sio 30 120 120
Si 30 120 120
Si, 30 120 120
Si3 5 150% 150
Sis 5 150% 500
Sis 5 150% 500

O0000000000000 ROR,eOODOOOOOOODDOODO 259mmI00000O0OSO
Sp,000000249mmI 0000000000000 DODODOOOODOOO 1omM-aO00000O
OO0OOCOOOO0O0OMevOUOUOUOUOOOOUOOODODOOOOOO~ODODODO (O 90OMeV)DDOODO
gooooobooooooboobooon

233 0DbOooOoO

O00000000ooob 2402500000000 2400000000000000D000
goboobobooboooooboooboboooooooooooobooobobooooooboooon

12



gooo0oOoOoO0O0opooOoO0OO0oOo@EUUOooOoOoOoOoOoUoUOoO)0odooooDoooOooo
0000000000000 00000000 (Multiplicity Aray) 00 0000000000000
gbobooboboobooboooobooboooooa
OO000DoOoO0oO00ooOb0o0oooooOooobo 00ooooosoommooooooon
oboooooboooooboobobooooooo
00000000000 0000000 S, S0000ht000000000ODO0O000000n
000S, S O0000000550mmMO0OO0OO0O0O0O0O0OO0O0O0O0O0O0O0S0000000(@
OoQ0oQ0OO0O0 20,2100 0000000000000 O00O0OO0O0O0O0OO0O00O00000000
OOo0oooOo0oobooo 1omsrfODOO

Multiplicity
Aray Beam Tube
Beam Target
> | I
\.\

lon Chamber

t
A///Angle

Air

Pion Range
Counter

024000000000000000000000000O0D0ORange Counter, Multiplicity Array,
lonChambedd 00000000 OOOO

13



o
e
il

025:00000000000000000C0Multiplicity Array 0000000000000CQCO
goo

2.4 Multiplicity Array

Multiplicity Aray D00 000000000000 0000000O000O00OO0O0O Multiplicity
Array0 000 45mn 0000 mmJ OO0 S5mnO00 78mmO000000C0O0OO0OOO0O
260 000000000000 9mMmMODOOOOGOOOCOOOODODOOODOOOOODOOOO
ocOoi15mmd0d000oQ0O000oOooO00ooOoOoDOOo0o0oooOo0ooboooOoooDooOoooooag
ooocpPMTOOOOOOOOOOOOOOOO 270570000000000000000C00OO
gboboobooboobooboobooboobooooboooboobooobOoooooboommoOooan
obooboobobobobobobobooboobooooboooooooooooooooooon
oot ~obOobO0bOO0ODbO0ODbO0O0O0ODbObOODbObOObOOOOOOOODObOOoOOobOOobDOon
gooobooooon

14



026:000000000000D00O

25 00O0OOOOO

0240000000000000000D00000DOOOODOOOODODOOO
cooooooooooOoooooo-soovOoOODOOOOOOOOOOOOOOODDODOOO
ooboobooooboooobooobbooooobooooobobooooooobbooboooDboboOoobo
gooood

obooboooobooobooooobobooobooooboooobooooboooooo
gobooboboooboooboooooboooboobbooooooooboooooooooboooooao
000000 spilD00000O (spilD0000)0000O0O0O0OOOOOOOOOOOOOOOO
goooooo
0000000000000 00000000oOooooooOOIlonChmbed 0000000000
gboboooboooobobooboobooooboboooooboooooaon

02400000000000000C00000DOCOO0O0OOOODODOOOOOOOODOODO
Oo000oooooooCooooDOoCOO0000ooOoOgooO ec0AMevVvODODODOODOOO
obooboooboooooboobboooooooboobooooooobooboooo
gbooobOoboooobooboooobobooooono

0 2.4: lon Chambenl O O O

DOD0000D0 || oooooo/oc |oooo |

400A MeV 8.2x 10¢ 9.7x 10°
600A MeV 10x 10* 1.6x 10*
800A MeV 12.1x 10* 9x 10°

15



26 DO00O00OO0ODOOOOODO

00000000000000000000000000 (PMT)0000O0O0O0O0OPMTOOO
O00000OPMTOOOOOOOOOOO0O0O0O00000000000000000#*00000
26nsed] x*000000000000000000000000000O00O0OOOOO0O0000
000000 (d1.8nsec 00000

Ooe 300ps 60.6my
[e]b] 28.1ns 11.0mv
A27.8ns Ad49.6my

+

.( & 1oomve O ][][]mvg)[ ][ Jﬁ’ ]

027.PMTOO000O0O0OO0O0DDOO®SI000RO0O00DDOOO0

0270 S00000000%®Sr00000R0000O0O0O0O0O0OO0O0OOPMTOOOOOOO
ooogopoooosoQUidfooo0oooooooooooooogoooooooos0QOoOod
oopMTOODOODOOOOOOODODOODOOOOOOODOOOOOODOODODOOOO 300
nsec0 00300 nsecd 000400 00000000000 DOCOOODODODOOOOOOOOO
gbooobooboobobobobbooboobooboobon

261 D0OO0OO0OODOODODOOO

23000000000, 00000000000000000000 0000000000
000000000000000000000~* 004 0000000000000000000
0000000000000000000000 10nsedd 000000000000

0000000000 2800000000000000000000000000000000
000000000000000000000000000000000000000000000
0000 (@0 2.90

16



in out
=N
#&ﬁ\

028 0000000000000D000O000OO
0000000000000 0O0O0O0O0OOOoo 0290000000000000000000

oogoooooog goboooboooboooboobboon
gooood
O 4.80ns € 58.0mv
O 65.5ns () -35.2mv

A60.7ns A93.2mV

10nsec

.( 3 20.0mve T00mv < J[ ][ 3 J ]

0210: PMTOOOOOOO0O0O0DODOODOOO0O0OO®SI0O00RODOO0O0OODOO

021000pPMTOOO0000000000000000000O00O0O0O00O0OO 10nseddd0O
oooooo0o0oooooobOo0ooooOb0o0oboDb 2100000000000 OO0O00O0OOO
coooooooooooOooooooooooOoooppMTOOODOOOOODOOOODOOO
oboboobobooboboboobooobobobooboobooobooboboboooDoboooo
gboboobobooooboooobobooooboobooooan
000000000000 0OPMTOOOO0O0O0DODOODOOO0OOOOOODOOOO 2700 °Sr00
Oo0O0Op0O (245MeV)00000OOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
goooooOoOooooOooooOooil00gooooUoooOoo0oobDoooooDoooooog
0000000000 1st0000 2nd0000000000OO0O0OOO0OOO0OODOO0OO
goooooooon
00000000000 0OPMTOOOO NIMODO (dividenOOODOOQOUOODOOOODO 500
RG580 000000 1500000fpooooooooooooooooooooooooooog
gboboobobooobooboboooboobooooono

17



700ps 60.6mv
16.1ns 11.0my
A15.4ns Ad9.6mV

10nsec
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, S S
32
( ® oo © momvszJ{ J[ J ]
0 2.11: PMTDDDDlSmDDDDDDDDDDDDDDDDDDDDDDDQOSrDDDBDDD

oooood

021100000000 1500000000000000 210000000000000DC
ocoooooOoooooooboOo0 211g0ooo0oooo0oooooooooogoooooag
OOo0O0O000 1500000000000000 2120000000000 0 000000
goboobooooboobboobobooobooobboo-~00bO0O00O0OO0OO0DbOOObOO0OO0OnO
OO00000oODOOo0O0O0000o0ooooD 1000000 oooO0ob0000ooDooononDSsd
Ss0000000000000O0oooOo0o0oooooogooooooooooDoboOoo
goooooo

HV

] 15m I divider

50Q

cIipT)ing

0212.PMTOONIMOO00O0O0OO

OOoOPMTOOOOOOOCOOODviderDOOOOOOOOOOOOOOODOOOOODOSO SO
Si130 S35 0 0 H1949-510 0 0 0 $00 S, 0 H2431-500 0 0 0 H2431-500 0 0 O0H1949-510 0 0 O
15nsedd 00000000 S00S,00 Divider0 000 000000000000 0000OOO

26.2 00O

OoODO0000oOoODO000OO0ODODOO0oO0ONMDODOOODOODOOOOODOOD FPGAD
ooooooo CAMACOVMEDOOOOODODO 213000000000000

PMTOOOOOOOODviderDODOOOOOODOOOOOOODOOOOOOOOO Discriminator
gobooooooboobobboooobooboboooboooooobooooooboooon

18



0000000000000 ooo0o0o0o0o0o0o0oo0o0o0000000g FPGAODODOO
OO0ooTULODOOoOoOoDooooooo@ooon)

000000000000000000ADCOO0O00OO0O0DOODODOOTDC(mult hittype)D OO
O0O00OO0Scale 00000 OOOOOODOMultiplicity Array O O O O O O TDC(multi hit type)O
00000O0OScalerd 0000000000 D0DOO0ODOODOODOODOOOD10°COO 10000
00000000000 Scaler000oooon

FPGADOOOO

000000000 FPGAODDOOOODODOOOOOO TUL (Tohoku Universal Logicy] 0 0O O
oo
O0000000016chO NIMOOOOO (NIMin0OO 15)032chx O chd ECLO OO OO (ECLInO
0300 chO NIMDOOOOODO (NIMoutoO 7)0 16chx O ch ECLO OO0 00O O (ECLoutdd 31)
000000o0oOo FPGAOODODODOOOOODOODOOODODODODOODOODOOO
oooo

000000OFPGADOOODOOODODODOODOOODOOODOOD le0000O0O0DOOO0DOOOO
O000000000D0D0D0D00O000O0ONIMODOODOOOOOOOOO

0 2.140 FPGAOOOOUOOOOOONIMINOONIMInIS 00000 SUSsO000000000
OOOOOONMNOOOOO NIMINIOOOOOOO (@O nsec)d000000O0O0OOOOOOO
NIMinl OOOOODOOO0O0OO0000000000000000000000000OFPGAD OO RS
O00000000000000000000000000000000000000000000
0000000000000 DO0D000OdGate Delay Generator (GDG O OO O ODOODO 25 nsec
OO0OO0OO0ONIMout0,2,4,60 000 000000000FPGAoUtO0 00O GhGOOOOOOO
O000000000000000000000000 Interruptregistol OO OOO0OO Interrupt
reqistor0 00 0000000000000 DO0OO0OOODO PCO0OOOODOOOOODOODOOOOO
O000000000000000ECLINOO FPGADOUOOOODOOOOODOOODOOONIMoutO
OOADCO GateDODOOOODOFPGAOODOOOGDGOOOOOODOOOOODOOONIMoutO, O
0000000000000 OdMultiplicity Array O TDCOOOOOOOOOOOOOOONIMINO
ONIMINl5000000000000000000 delay(25nsedi 00000000 125 nsec Gate
O0000000000O0ECLOOOOO TDCOOOOOOOOOOOOOO

19



NIMinO

| So [ Divider T Discri Fln/FoutE [FPGA]
Scale

2

NIMin15

S1s/—1 Divider

’ Discri %’ Fin/Foutr’i

FPGA

[Delay— ADC |

0213:000000

(Rev-1e0}—{ DS

60psec
| delay

Scaler

GDG
25nsec

NIMout1

|
INIINAAT 40 |

GDG
125nsec

delay L

NIMout0

NIMoutZ GDG

137nsec

\NIMout4 F—{ AMT |

start

" |25nsec

delay

ECLgutO

25nsec

ECLbut1

start

‘ AMT

NiNing|— 4¢3y

25nsec

ECLout2}

:

0214 FPGADOOOOO

20

[ECLout15}—

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

ADC
Gate
ADC



— Q oo | oo
| @Q
oo
(1,0
(0,1)
0oo

R|lR|lO|O| A

0 215:00000000000000 0216 RSOOOOOOO0

HV O O Discriminator O O O

OPMTOOOOODOOOOODOOOOODODOOOOODOOOODOOOOODDODOOODO
oooo ADCI]I]DIZIDDDDDDDDDDDDDDDDDiscriminatorDDDDDBD[IQOSrD
0000S0Ss0000¥Sr00000000000R 0 (0 225MeV)0DDO0O0DOOOODOO
Discriminator0 D 000000 ONOOOOOOOOODO pedestal 00000000000 OO0O
0O“4Hed 0000000000000 O00OO0ADCOOOOOOOOOOOOOOOOOOOOOO
0000000000 S0S 0000000000000 oooooooooooooooon
000000 DOooOod Discriminatord OO0 000D O0O0ODiscriminatord OO0 O0O0O0O0OO0O0O#*
O0wx 000000000000000000 (S,0$2)00000010nsed] 00 S O 40nseél
S1,S130 S50 0nsed 000 (S 0000 SSO000000000000O0SO00O0O00ODOOOO
og)

ADC

OOO0O0ODOCAMACOUOOODODLeCroy2249W0 ADCOOO0D0OOOOODOOOOODOO
coooozz4ownO000oooooooooog

0 2.5: LeCroy 2249WJ 000 0O

Full Scale Range| 0001 256 pC
Number of Bits 11 bit
High Sensitivity 0.25pC
Resistance 50Q
minimum Gate 30 nsec
maximum Gate || 10p sec

ADCO GateOOFPGAOOOOO NIM220000 GbGOOOODODO 137nsedc10000ODO0O
OO00000A~*0000026nsed 0 500000000000000000000ADCODO ch
O pedestalicii OO0 000000000000 OOOOOO0OOO)O0O00O0O0chOOOOQOOOO
000000 (@O0000)0000 pedestal 00000000000 DOOOODOOOO(O 2.17)

21



5000

4000

3000

2000

1000

OO

I R - T b b b by
20 40 60 80 100 120 140 160 180 200

0 217:00 ADC(chYiDOOOQOOOODOOOODO pedestal 0000OOOCOOODOOOOOODO
000000 40ch0 00000000000 pedestad 000

O00000OO0OVMEOOOOOOAMT (ATLASMuon TDC)-VMEOOOODOD(MOODODOOO
gooooooTbcoooooon)
oo AMT-VME OOOOOOODOOOOOOOOO (KEK)O LHCOOOOOOOOoOoOoOoDOoOo
000000000000 000000000O0OD0O0000 chDOOOODODO0O0O00000o00OO
0000 MultiHtTDC OOOO0O0O 26000000000

0 26:AMT-VMEOOOOO

gooooooo 64
ooooooo ECL or LVDS
ooooo 0.78 ngbit
oooooooogo || 17 bit (full scale : 10Qsec)

00000 commonstar 0000 00O OFPGADO NIM200210 00 startd O O O O full scaleO
400nsed] D000 O0O0OO0OO0OOOOO stopdOO0ooood
OO0 AMT-VME OO0O0OO0OO0OOMUltiHtOOOODOOODODOOUOLOOoOooLOoooooooooooo

263 J0OO0OO0OOOODO

0000000000000 0000000000 LinuxkPCOOOO nagidagd OOOOO
oooooo0ooboooCAMACOOOOOOVMEOOODOOOODOOOODOOO

22



030 OO0

gboboobOobooooboboooooboooo
gooooooooooOoOOOO0O ni*Or D000 0O0OO0OQ0OOOOOOOOODOOOOODOO

1. 00000000000O0O0000O0O00000O
2. 0000000—00 TbhCcOoOoOoOoOOOOOOOOOAx*O00O0OOOO
3.740000000000000C0CO00ODOO0O0OOO0OO ADC(AE)DOOOOOOO

4. "0 AEODODODODODOO-*OOOOOO

oboocooobooooooboon

31 DDOOoOoono

OO0o00oO00oooooooooOoooooOoooDo AbCcoTbCcoooooooooood

3.1.1 pedestal

ADC(2249W)0 Common Gatel 00000 000000000000 O0O0OO0O0OO chOOODO
O000000000OooooOoOO0OO0OO0 chOOoOoOo ADCOOOOOOODODOOO chOOO
0000000000000 DODOO pedestal 0000000000000 0O0O0OOO chODOOO
O0O00Opedesta0 D0OOOOODO (O 2147000 pedestad0 D000 OOOADCOO chODOODO
gbooooobooog

00000 S0S:000000000000 pedestal 00000000000 00S0S 00
000000000000000000000000000 pedestal 0000000 DOOOOOO
0000SO0S 00000000 Pulsed D0000O0OO0OO00OO0OO0OpedestaD0OOO0O

03.100000pedestal 0000000000 FitOOOOOOO (mean)d 00 (o) 000 OADC
O chOOOmean3o (chyOOOOOOO

23



1000

800

600

400

200

35 40 45 50 B5) 60

o

O 3.1:6chd pedestal DO OO0 OO0OD0OOO FtdOO

OO00O0O0O0OD0OD0ODODODODO ADCO chOOOOOOADCOOADCIS0 0 O0OOOOO

312 0DOO0OO0OOOOooOooOoo
OO0 ADCO chOOOUOODOOOODOOOOOOOOOoO
gobooobooOooboooboooboboooobooooboboooobooobooobooooobooboon

000000000000 320000000000000000000 (MO0 000DODOOD
0)00o00o00oooooon

032000000000000000000000O0sidevetd 0000000000 ODOOO0OO

24



0000 MIP(Minimum lonizing Particle ] 000 0000000000000 MeV/(g/en?) 00
0000000000000000000000000 1.06gem 0000000000 2mmO0
O000oo0o0ooooooooOoooo

2 MeV/(g/cn?) x 1.06 g/cm® x 2 mm = 0.424 MeV

ooooooooooobooo0o0o0oOoOo0oooooooooooOooooooobooooO MPY
(Most Probable Valuel 00 000000000 ODOOOOOOO 310000

031000000000000000000 ADCO chOOOQoQooooooo

DOO00O0 | Mev | 7000 [10000 [11000

S 0.424| 4451 51.19 50.38
S 0.424| 35.05 40.42 54.33
S 1.06 24.18 22.89 22.81
S3 1.06 24.66 22.12 21.77
Sy 2.12 31.88 30.98 30.20
S 3.18 36.45 33.61 32.74
S 6.36 63.89 61.76 59.92
S 6.36 64.10 61.82 65.45
Ss 6.36 55.41 53.86 53.49
S 6.36 53.92 52.85 52.46
Sio 6.36 69.66 66.54 67.32
Si1 6.36 72.48 70.40 84.82
Si2 6.36 82.17 81.38 81.52

313 DbO0oooooooogo

0000000000000000000000

0000000 Gand 00000000 (POOO0DO (D)IDODO00(MOIODODDD GHe)DOODO
00 (*He)O ranged 000000000000 0000000O0O0OOOOOO0O0O0O0O0OOOO
000000000000000

OO0000S0O0000oooooooogoooo
goOoOOo0OOoOOO0OO0 33000O0o0AbDCOO0ONOn (AEREE)DOOOOO

0330)00000000000000000o0oOoD 3.30)0 S OU000ooooooooo
googoboobobobbobooboobooboobooon

25



o . o ok ST W )
0 100 200 300 400 600 700 80D 0 100 200 300 400 500 €00 700 800
ADC 5 (ch) ADC5 (ch)

0 3.3: 0 )ADC5:ADC60 00D DO (I)ADCSD ADC6 0 000 DDODODOOOOOGO

0330)000000000000oooooo LN00000000000oooooooo
(000)S 0000000000000 000O0O00O000SO000O0000O00OD0O00SO
oboooooboooogon
(00D0)S 0000000000000 0D0DO00ODO0000 SO0O0O0OD0O0O0O0000000Ss
gbooobooboooobooon
(000)S 0000000000000 0OD000SODO0O000OOoOooDooooooo
(oL)ss U000 SsS0Ss00ooooooooooooooogn
OO0000O0o00boOo0oOooDoooO 40000

Ss  Se S
D+
@) >
©) >
@ >

034000000000000000000000O0O0O0ODOOOOOOOOOOOOCOCOCOO
oono

0000000 KOO0O0000)0 SSO000000000O0O0O0000000 IO0DO0)D S
gboooboooooooobo
gboboobobOobobobobobOobobOobobobobOOobooboooboooooooboon
00000000 10000 SsO000oooooooooooooooo@oNnog)yoooooo
gooooood

26



SO00boooooooooooooOooooooooooooooooooooo
e ADCOOADC6OOIODOODOOODO
e ADC7TO ADCI3OODOODOOOODO
O0OO0OADCOOO pedestal 0 c 00 0000000000000 00000ODOODOOODOOO
e ADCOOO ADC60 0O
e ADC7O ADC13<0
OoOoOoOoOoOoOoOoOoOoADCeDOOOOOOO(D 3.500)

S13
S s S7 Se S9 S10 S11S12[]

So S S28s S4

~
ADC >0 ADC<=0

035: 0000000000000 000O0c0D000D0O0O0xO0000000O00OO0OADCO0O
ADC60 00O OOADC7OADC1300DOODO

ADC60 0000000 ADC5:ADC6 000000 OODO 3.3Q)0 000000 00O0OOO
O00o0o0ooOoO0O000000 AEEEDO0ODO0ODOOO0O0O0O0OODODODODOOO0O0DODOObO0OO
OOooADCeIIO0ODOOOOOOOODOOOOOOO330bDO0O00OooooDDobObDOOd
oood
03300000000gooooooooodggopoooooo0ooooooDoooOo00Ssd
00000000000 00O0 ADC6O0IODO 3600000000000 0OODOOOOO chO
ooooOooOoOoOoOoOoOoOchoOoOoOo

0000000000000 000000o00oO0oo0ooD 3.3Q)000O0O00000O0 AEEEDD
goooboobooooobooobooooooboobooooboooobDOooDoooboOobooo
ooooooooooOo0oOooooooboo0oOooooDoOOoOOoO0oooDODOObOO0n 3600
gooooOoOoUUdUd chObOoOoOoOOOQOQOOOOOOOOOOOOOOODOOOOODOOO

27



counts

300

250

iy
200} I! ‘
150]-
100

soll

O H\\‘\H\‘HH‘HH‘HH‘H\‘\ L"‘“‘““‘“wln.\‘u
0 100 200 300 400 500 600 700 800 900 1000
ADC (ch)

036:0330(0)00000000000D0D0OD0OD0OD0O0O0O00O00 chODOOOO

goooQoQoQoQoQoQo bpoooo (mobooooooooooOooOoOoOoooooooLoo
chOOOOOOO 3.200200000000000 ADC6DODOOODOODO

0 32.ADC60 0000000000 OOOO (ch)

(ooooo || p | d | t |%He| o |
| ch [ 533 670] 755] 1240] 1330

3.1.4 Rangel O (SRIM) 0000

3.1300000000000000DoOoOoOooLsSsOo00ooooOOnn stopping rangél O
ocoosRMOOOOOOODDOOOOOO—-OOODOOOOOOOOODOOSRIMODOOOO
ooboooboodbOranged 0000000000 DOOODOOOOODOOOOOOOOOOOO
OO0 range 00000 O0O)0000 200000000 (@ 3.70000000000000
OOO0O0OO00O0O 330 ADC6O chOoooooooooOoOoOOOO

28



| proton range around 30mm | X"/ ndf 0.01218/4

po 0.00671+ 2.596e-06

p1 0.09257 + 0.0001572
L

50

40

30

20

‘lllllllll‘\\llllllll\\

10

LI

.
eoe®®
Lo v b b b b by

10 20 30

oo

037:SRIMOODO rangeD 0000000000 OODODOO range(BOmmpOO0O0O0O00O0OO
O FitoO

0 3.3: ADC60 chOOOOOoOoOoooQoOo

poooo [[ooo | p | d | t [ PHe | o |
ch 63.89 | 533 | 670 | 755 | 1240 | 1330
MeV 6.06 | 60.32| 82.19| 98.50| 212.13| 240.72

0330000000ADC(chp OO OOOOO (Mev)OOOOOOOOOOOO FtOOOFitO
000 ADC(ch)yU oOoCOOOOOOoOoooOooOoOoOoO (uuUuUuoooooo38UUOnO
goood

adc ch6 -ch vs energy X2/ ndf 4.049/4
. pO 8.3586-05 + 2.97-06
250/ p1 0.06829 £ 0.003025
22801
I3} L
Q L
<200~
150
100/~
50/
C e
I _—
071’:‘\/7\‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\‘\
0 200 400 600 800 1000 1200 1400

ADC (ch)

0 3.8: ADC60 ADC(chyDOOOOOO (MeV)ODODODDDDDDDODO Fit

000 FtOOOO0OOO0O0OD0O0O0OO

E[MeV] = A; x (ADC[cH])? + A, x (ADC[ch])

29



Fit 0 0 0 0 A;=8.36x10"5 MeV/ch?0 A,=6.83x102MeV/chO D D JADC6 0 0000000000
0000000000 (ADC20ADC12)0 00000000000 00000000000000
00 3.403.60000

O 3.4: ADCZ1 ADC120 calibration0 0O (700 0O)

DOO0DO || Ay (MeV/eh?) | A, (Mev/ch) |

S, 6.06<10°5 2.12¢10°2
S; 5.14<10°5 2.26x102
S 10.1x10° 297102
S 9.51x10°5 5.04¢102
Se 8.36x10°° 6.83<102
S, 8.76x10°5 5.28¢10°2
S 13.0<10°5 6.96<102
S 8.18x10°° 8.99<102
Sio 5.80x10°° 6.69<102
S 5.92¢10°° 6.56<102
Si2 4.75¢10°° 5.91x10°2

O 3.5: ADCZI ADC120 calibrationC O (100 00)

000000 || Ag (MeV/eh?) | A; (Mev/ch) |

S, 5.80x10°° 2.20x10°2
Ss 4.87x10°° 2.38<107?
Sy 10.2x10°° 2.85¢1072
S 10.1x10°° 5.33x1072
S 8.62¢10°° 6.82x1072
S 7.90¢10°° 5.73x1072
S 13.8<10°° 6.67x1072
S 9.06x10°° 8.75x1072
Sio 6.43<10°° 6.34x1072
Si 7.25¢10°° 5.66x1072
S 5.84x10°° 4.99¢<10°2

30



0 3.6: ADCZ1 ADC120 calibrationO O (11000)

000000 || Ar(Mev/ck) | Az (Mev/ch) |

S, 5.65x10° 2.12¢10°2
Ss 4.98x10° 1.96¢10°2
Sy 10.710°° 2591072
S 10.1x10°5 5.16x10°2
S 8.54x10°° 6.51x102
S, 7.89x10°5 5.87102
S 13.1x10°5 7.01x10°2
S 8.88x10°° 8.65<102
Sio 7.29¢10°° 5.60<102
Su 7.13x10°° 5.99¢10°2
Siz 5.85¢10°° 4.99%10°2

OOO0QOOQOADC(ch)yDOOOOOO (Mev)OOOOOOOOOOOOOOSOS,0000O

00000000 OB, 00000000

3.1.5 00O Gate:Slewing Correction

Ooooo0OooooooooooooOooooooo GateD ODOOOOOOOOOOOODOO
OO0 ADCOO TDCOOOOOCOCOOOOOOOODODOO Slewing Correctiod D 0000 ADCO
O TDCOOOOUOOPMTOOOOOO Discriminator0 0000 O0O0O0OO0O0OOOCCOOOOO
oO00o0ooo0o0O0ooOos9booooooooooooooooooooo

[ E

039000o0o0ooooboboooooooooooooooo

ADCO TDCOOUOODOOOODOOOOOOOOOOD [22]0

A
1. TDC=A1+\/[AD—é—Ag]

A
2. TDC=A; + eX[:(A'g)z(ADC)

31

000 A;0A; 0000000



O00O00O0O0oooOveTOOOOOOOOOODOOUOUOUOODOOOOOOOODOONtOOOY
O00000000000000000S,0%,0000 Slewing Correctio 0000000000
O000—0000OPMTOOOODOOORtOOODDOOOOODOOOOOO 3.100 Slewing Correction
goooogd

timing raw ché

130

110

12

=]

105

11

o

100
10

9 9!

9

=]

=] =]
T[T T[T [T T T[T T T[T TTT[TITT
1
a
L
B a
o o
=] =]
5]
(‘7

8

=]

WWWWM

7

=)

100 85

60

S S SO S S SN SR SR | T S S S SO S S |
200 400 600 800 1000 200 400 600 800 1000

o
o

(a) Slewing Correctiori] (b) Fit

130

12

=]

11

)

100

90

80

7

o

60,

T S S SN SR S R |
200 400 600 800 1000

o

(c) Slewing Correctiori]

O 3.10: (a)O Slewing Correctioid 0 0000000 (b)O profileD 00 00O FitO (c)Slewing Cor-
rection0 0000000

O 00O OSlewing Correctionl OO0 chO O TDCOOOOOOOOO FitO (O 3.110 0 )Omeanr:30
O00000000000000000000000000000000000000000

000000 Slewing Correctiol 00000000000 OOTDCO 1stHit Time(cho OTDC1-
00 TDC1-1Z1 TDC O 2nd Hit Time(ch)J 0O TDC2-20 TDC2-120 0 0 0 (S0 S 00 0 0 0O 2nd Hit
ooooooon)

O0000000000000000000(S000000000000)

1. ADCOOADC60 00 ADC70 ADC13<0

2. TDC1-O0 TDC1-60 00 chO meart3c 0 O TDC1-70 TDC1-130 0 0 chO meant3c O

32



oooO0OO0o0O0O00O0O0D0DODOD SSO0000000000O@OO,0co00b000 ssOo00O0)

88 90 : 92 : 94 I96 98
TDC(ch)

0311: 70000 SO TDC1stHitDOO DO OOOOOD FtOO OO

3.2 DOOOOPID

2310 0000000000000 0000OO0OD EDODODODOCOOOO R(Rangep Do
D0000DR«E*ODO0OOOODOODOODOODOOT eODODLOOOODO 175000000000
oooobooooooooo0oooooo0oooDbDoboooooDObO0ooDoObO000o0DD SO0
Oo0o0oo0o0o0obooOo0oOoo PDOCOOOOOOOO

(Es + Ee)" — Eg

OO0 PDOOOOOCOOOOOOOOOOO 3.12000000000000C PIDOOOOOOO
gooood
OOCOPIDOOOOOOOO AppendixiODOOOO

33



140— 100
120{—
- 80
100[—
80 - 60
= 140
40
[ 20
20—
Y
of)l 1 “"I ' 1 1 ‘I"'"l 1 1 ' 1 L 1 I 1 1 1 o
0 600 800 1000 1200 1400
PID
(a) PID vs Energy
(/) -
IS N
=}
3 N
o
10° =
10? =
10 =
1
o 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1
0 200 400 600 800 1000 1200 1400
PID
(b) PID

0 3.12: 400AMeVO 00450 0S 000000000000 PIDD(0 000 PIDOOOO0 EgO
0000 () 0000 xO00000000 (PID)D0OO log00000C0O0000000000
000 SO0 700000000

34



3.3 ~fO000

0000000000000 0Ax4* 0000000000000 DOD0O00000O0A*0 7~ 00O
ooooooooooooo0d«~topro00C000ooooooboob00ooooooooD
OO0~ 04" 000000000000000000000000000

gooOoOoO-*0O0O0COOOOOODOODODOODOODOOODOODOOOO

331 ~+00000
231000000000~ 0 99990000008 - pu*+y, 00000000000000O
oooOoOoOoOOO0OvrangelO000ODODODDODO xk*O000OO00O0O
O0000O0O0OD0ODO0OD0ODDODODOM@MDODOD SsOoooon)
1. 0000000000OGooon)
2. 0000000000000000(TDC2-60 0)
3.20000000000000DO0O00O0O0DOOOO
4.103.000000 TDC2-6-TDC1-60 00 0 00O decaytime:@ e 000000

0000 10400 3.130 (a3 (h)0 0000000

35



~
o
=]

5k
£2000F s F
s F 35 Qgool-
8 1800 2 600 E
a E 30 E
<1600/ 500[—
1400 25 F
1200 400~
B 20 E
1000/ 300
800 15 =
600~ 10 200~
400—
F 5 100
200F
PN R e v RN | L S I IR IR RNl | i
0 200 400 600 800 1000 1200 1400 1600 1800 2000 ° 700
ADCS(ch) ADC5(ch)
(@ooooooo (b)OoOOO0O0DmM(@)0O0D00O0 2ndHitO O O
=700 o [
R c [
s S
Q 600> i 8 +
< E o T L
500
E 10—
400~ =
300; L
200; F
100; = H\ﬂ“ﬂ
:\ P R N SR Lvov v v v v v v v by vy E L L L | I PRI
00 100 200 300 400 500 600 700 0 20 40 60 80 100 120 140
ADC5(ch) time2[6]-time1[6](ch)
(c)D00O00O0O0UO0O0O0O0oDUOOoOODUOO (d) TDC2-6 - TDC1-6

0313« 0000000000000000DODOOOOOOOOOO

3130 ()OO OOOTDC2-60 00O OODUOOODOOOODOOOODOOOOOOOA*O0O0OODO
OO000O0O0OO0OADCeO 500chD 0000000000 OOOO 26.10000000000000O
ooboooboooobooooboooboboooOooobooobooooooobooooboooooboooon
000000000000000000000000000000000 Ax”*00000000000
O00«*00000000000000O0O0O0000DO00O0O0O0ODO0O00O00 3.130 ()OO
300o0000ooo0ooobooooooOoooboooooObO00oDOoOoOo0oDOO0OoOoOOOn 1st
00000 2nd000000000O (TBbC2-6-TDC1-6N 000 x1* 0000000 OOODODOODO
000000000000020090 70 9000 SSOO0O0ODODOOOOOODOOOOOO »*000
oo0o0000o00opoooOoOO00OoO0OoooobooOoOoOoOoOzo090 yOOODOO (30,45,60,90,120
0)o0oo0o00O000000S 00000000 oo

0000070000000 tO00000D0 expC-t/7)D0000O0OODOO(TDC2-6-TDC1-6)
O000O00O000dOdOOexdC+ex)0 FtOODO(D 3.1400)000 FtODOOOOOOCOCODO
ocooooo 34ooooooooooooobooboooooooooooDooooooo
00000 efficiencyD00000000000000O0OODOO efficiencyD00000000CO
0000025ch<TDC2-6 - TDC1-6< 120ch0 FitO OO DOOOFtOOOOOOOOO

36



e C=5.517+0.04148

e a=-2.995x 1072 + 7.266x 1074

COO0OUOUOOeO Slope0 0 00O0O0OODODOODO TDCOUOOOOOO 0.78nsech0 000
OO0 0.78000000000000000O0OODOOO

e 7=0.78a = 26.0+ 0.6 nsec

O00O0x"000 t=26.033x0.005nsec) 00 00000CCOCOOOO~A*ODODOOODOODODO
oooooobooooooboon

Counts
T T \\HH‘ T

E P! ANV RN I NS SR AU S S NS ST PR I PR
0 20 40 60 80 100 120 140
TDC2-TDC1(ch)

0 3.14: 20090 70000 TDC2-6-TDC1-60 00 0250120ch0 0000000 FitOOOOO

7+t 0 decay curved O 0O

00000000 decaycurvél D00 000000000 OOOO0OOO0OOOOOOOOOO
goOoOoozo0090 70 (DOOOOOOO 400AMevV)DOOOOOOOOOOOCOODOODRODOOO
Oo0oooooooooo0o0oOoooooDoooDOObO00000oDDoOSOS ) 0S1000
ooooooooooooo

37



[ 6 stop double_hit - first_hit time sonsowemi-ssmune | [ 7 stop double_hit - first_hit time opdoule, it e

= Entries 4828 Entries 4292
Mean  47.04 [ Mean 47.86
RMS  24.26 RMS  24.49

10?

10 10

-
[N

PRSI SN B | N A
100 120 140 160 180 200

o
N}
s}
of
or
o
S
@
S

PRI N | I I Y PR
100 120 140 160 180 200

T
N

S}

of
OA

o

1<)

o]

S}

@S (b) S
[ 10 stop double_hit - first_hit time | wspsasemwsmme | [ 11 stop double_hit - first_hit time | sop doue it i
Entries 2803 = Entries 2307
5 Mean  45.19 Mean  45.02
10° = 102
= RMS 25.63 E RMS 24.95
10 10
1= 1
[ A A TR RN B | N A AR B Bl
0 20 40 60 80 100 120 140 160 180 200 0 20 40 60 80 100 120 140 160 180 200
(©) S0 (d) Sz

0 3.15:000TDC2-TDC1(chp 0000000 (Log) D00 (00000000000 0000
0000000 SO00000

03.15000000000000000000 S00000000000000 $0S00S110
TDC2-TDC1O00000000000000 (b)S,(d)S1 000 15ch0 25ch0 000000000
000000000 20ch000000000(c)S,00000020ch0 000000000000
0000000000000000 decaycurvél 000000000000
015ch0 0000000000000 eficiencyl 0000000000000000000000
00000000
025ch0000000000O0Odecayd 0000000000000 00000O0O0OOO

ooooooooooo0oobOo0oooDbOo0oooDbOboOoooDObO0ooooOoOO0OooDOD 3130
O0-*0000000000000C0000000000A" 000000000000 efficiencyd
0000000000000000000000 31600000004 0000000O0O0O0ODO
gbobooboobooooboboooooboooo

38



)

NS
o
S
)

=)
Q
S

ADC10(ch
D
o
o
ADC11(ch
u
o
o

o
=3
S

40

=]

w
=]
=]

IN]
o
S

OHH‘HH‘HH‘ [RANRARENRRRRIIRRRN

S
=]
w
Q
=]
L R R R B A T R R

o

=)

e e e e e b L o e e b b e L
100 200 300 400 500 600 100 200 300 400 500 600
ADCY(ch) ADC10(ch)

(a) ADC9 vs ADC10 (b) ADC10 vs ADC11

0 3.16: ()b ADC9vs ADC100 O (b) O ADC10vs ADC110 000

0 3160000000000 ~"00000000O0O0ODOOOOOOOCOOODOOOOOOO
00000000000 000Q00O0O0O0O0D0OO0 316@OOOO0OO PD,TOO 3.16()00OODO
OpPDOODOOOODOODOOO
oooooooooOoOo0oooOooOooobOoOoOobO0 3a7y0ooooooooooDooooooo
ooboooboooobooboooobooboboooooooobooOooooobooOooooOoooon
goooboooooboboooooboooboooboooobooooboboooboobooboobooo
gbboobooboboooboooooooboobooooobooboobooobooooboobooon
gboboboobobobobobobobooboooobooooooocoooooooobooooon
oooobooobooooooobbooboooboobobooooboooooooobooobooooobooooon
goooooboooobobooogbooooooboboboooboobooo
goboooboooobooboooboobobooooooboooboooobooobooOooooao
oobooboooboooboobooOoooboooooooboobooOooobooobooooooooon
000000000 ADC20000000000000OCOCOO316(@OODODODODOOOOOD
ooooooOo31y0jooo0ooooo0ooooooooooooooOoooooOooooog
OO00000 ADClI00000OO000D0O000ooon

39



\ //\ /Vbasellne

threshold

03170000 PMTODOOOOODOOOODOOOODOOOODOOODOODOOODOOOO
oboooOobooooobobooobooboooooboooo

00000000000000000000000000000000000 3.16b)000000
0000000000 (PD)00O0D0O00OTDC2-TDCIOO000O00O0O000 20ch00000000
000000000 3.18()00000 3.18(b) 000000000 »* 0000000 TDC2-TDC1
oooooo
0000000000000~ 00000 TDC2-TDC10 20ch0000000000000000
000000000000000000000Odecaycurvél 0000000000 (15¢chd 25¢ch
000000)00000000000000000000000000000
000000000000000000000000S 000000000000 ADCO0OO0OO
000000000+ 0000000000000000000000000000000000
0000O000TDC2-TDC1O decay curvél 000000000000 000000O000000
ooooo

40



h5 [ 10 stop double_hit - first_hit time Losop o,
Entries 5263 -
= Mean 21.79 100= Entries 2803
1000— RMS 8.037 F Mean  45.19
[ [ RMS  25.63
L 80—
800— L
600[— 6o~
400 40~
200 20
oL T T T R P T P P N O R Lt . S N AR A
0 20 40 60 80 100 120 140 160 180 200 0 20 40 60 80 100 120 140 160 180 200
(@) ADC10vs ADC11O0 00000000 (b) ADC10vs ADC110 »* O OO

0 3.18: (a)J ADC9vs ADC100 O (b) 0 ADC10 vs ADC110 0 00

0001lchD00 »* 000000000 (0 3.18(b)0 00 2000000000ADCO 2000
00000000000000000000
0 TDC20 TDC1O 20ch
[0 20chd TDC2-TDC10 30ch
000000 3.19@), (o000

3] 3] [3E]
zzzzzzz 2309 Entries 203 Entries 5]
= wo1| o Meanx 1861 o Me: 88
3 Meany 2269 & Meany 2332| & Meany 2308
| 288 o RMSx  2592| o RMSx 2002
G600~ RMSy 7092 Q600 RMSy  6652| Q600 RMSy 7103
] ] a
< < <
5001~ 500 500~
400/ 400/ 400
300~ 300 300
200 200 200
100 100 100
R R R T s e s
ADC10(ch) ADC10(ch) ADC10(ch)
(@7 00000 (b) TDC2-TDC10 200 * O (c) 200 TDC2-TDC10O 300
oo ~toog

03.19: (00000002 0000000(b)00 TDC2-TDC1O 200 »*0(c)0 0 200 TDC2-
TDC1O 300 »* 0000000

0 31900000ooooOooOoOoOO00OO0O«~*00000A*00000ODODODODOOOODODOO
gboogooboooboobooog

1000110 (0000000000 600,800AMeV I IOIODOOOA*OOCOODOOOOODO

o000 O0O0O0O0O00O0ODO0O0OUUU-UGaNDOOOOOOOOOOOOOOODODOODDODO
00000000000 000DOO 3.200 S,5.0 TDC2-TDCIOD O OOODOOOOODOO

41



[ 7 stop double_hit - first_hit time [ 11 stop double_hit - first_hit time

Entries 1992 Entries 1475

Mean  48.07 Mean  49.48
2

RMS  23.68 10 RMS  23.76

10?

10 10

-

T
i

b b b b b Ll e b Ly
20 40 60 80 100 120 140 160 180 200

o bl e e by Ly
100 120 140 160 180 200

T
~

S

oF

S

o

<3

©

S

(@7 00000 (b) TDC2-TDC10 200 »* 0O O

0 3.20: (b0 00000S,Su0 200000000 TDC2-TDC1O0O0O OO0 OO0 (OO :log)

00000000000000000000000(3.2200)

000000 (@O000 ¥An,000000000400AMeV)0 0000000000000 O0
000000000000(@ 3.2100)

000000000000 0000O00000000

O Discriminatord OO0 0000 OO

O AnalogD 00O DelayDl 00O 00O DelayBoxO OO oo

0ooooooo

O Discriminatord D0 00000000000 OODOO DiscriminatorD 0000000 30mvO
Oo00ooooooooooOoOoOooOo0oOoOoDOoO0ODOOOOOO0O0O0OoOoOooooOoOoOoOOoOgg
0000000000000 00 1omvO0O0O0000000d Discriminatord 00O O
000 DelayD OO OO0OO0O0OO0OO0OOOOCOOOODOOOOOOOOOOOOD (60nsecxléchd
delayBoxOO OO OO QO
O00o0o0oooo0o0ooooooo00oooooo00ooooooooooooooooOg
ooooooooood

OoogooooooTbez-TbCcldifooooooooooooooooo0oooooooon
gbooobOoboooobooon
ooo0oO0O0O0O0000~«~*"0000000000000C0COCCOO0O0ODODOOOOOOOOOOO
0000000000000 00000O0O000 TDC2-ThbCz30chD DO OOODOOOOOOODO
good

42



h4
Entries 928
7__-1000 - Mean x 196.7
o - Mean y 180.8
= 900 RMS x 98.5
a = RMS y 90.47
< 800[—
700;
600;
500
400;
300
200;
100F-
0: ol b b b b b e b b
0 100 200 300 400 500 600 700 800 900 1000

ADCB8(ch)

0 3.21:20080 00000 ADC20 00000000 SevsSu00oooooooooooOod
oooooobooooogo

h39 h19
Entries 1082 Entries 807
Mean 48.45 E Mean 46.09
RMS 25.41 L RMS 26.5

10 10

[N
-

T

bl

P . TR IRV B
80 100 120 140 160 180 200

T
~

S

oF

S

o

S

o b b b b B BB L L Ly
20 40 60 80 100 120 140 160 180 200

(@#* O decaycurvél 0000000000000 (0000 S 0000000000

0322700000000 TDC2-TDC10O0O0D0000 (0DO0:log)D000O0O0O(@OOOOODO
0000 ROO0O000 SO0000()O ROODOOO S,;0000

00 20090 70000 900 SsOOOU0OOOOOOO
00000 1030000000000000 3.13(dUi0lst00000 2nd00 0000000
(TDC2-6-TDCl-6) 000000 DOO0O0OOOOOOODODO
0 30ch<TDC2-6 - TDC1-6< 120ch @ 00 O O O 23.47 93.6nsec)
O000ooOoogo
0000000234193 6nsed 0000 O0ODOOODOOODOOODOOODOOODOOOODOOO
OO00000 .00t 0000000000000 0O00O0O0 [0,o]O00000D0OCOOODOO
ooooooo .
Cexﬂ—zé

000000000 [0,0]0 [23.4,936]00 0000000000 10000O0O0O 23.4193.6 nsec

43



ooooos37onbdonoooOoOooooOon

332 000000

3310 0000000000—000000~*00 0000000000000 0O00O0O0OO0
o0000000000d0«~*00000000000C0O00D0O0O00000000OoOoooo
oboooboobooooobooog

oo0o0oo0o00oooOo0oooD 400000000
e J000OA*0DODO

e JOOOOODO

e JOOOOODOO

e JOOODO

0000000000000
01)0000000000000000000 »00000000000—0000000000
000000000000000000000000000000000000000 20000
000000000000 000 (Appendix)

02)0000 00000000000 ®COoOD00000000000000oooonoooo
0000000000 000000000000000000000000000000000
0000000000000000000
03)000000000000000000000000000000000000000000
04, 000000000000000000000000000000000C0C Discriminator
0000000000000 00-0000000000000000000000000000
0, 00000000000000000000000000

0323000 GeantdD 000000000 OOChbaD 000D OODO ([20],[21)00000

O0@oOO0000O000OO0000O0)000000O0O0O0DO0O0ODO00S 00000000 Geant
gooOoOoOoO0OOOODODODODOOOOOOO0O0ChbalOOOOOOOOOQd

44



0.85 -

=l geant

08 1 ——FE

075

0.7

065 4

06

055

05

o 2 4 6 8 10

12
counter #

0323000000000000000000000000-A*0000O0OODOO

333 »~*00000O0

sfO00OOOCOOOOOOOOOOOODOOOODOOODODODODODOOOO

dzO' _ Nﬂ+
dEAY ~ (Nt/sing)d NpyofIISED Fe

N, 0033100000000000000 000
Nr000000D000000000000
9000000000000000000030060000 9000750120000 4500000
Neoj 0000000000000 000000000000000D00000D0000000
000000000000 (10 msr)

SEDD0DDDODOOOOOO »x*0000000

Fc003.320000000

O0000000b0oO000oobooo0o0o0 3.240000000

0 32400000000000000 400,600,800AMeMI 00 »1*t00000OCOODOO #*0O
oboobobooooooboboooboooobooobooboboobooobooooooooooao
gobooboboooooobooobooooboooboobobooooboobooOoooboooaon
ooboooboooobooooobooooooooobobooboooooboOoooooobooon
oooooooooogoon

ooo0o0o0ooOo0o0oobo0ooDboOO0 120000000000 00D0ODO0OO0ODODOOOOOODO
OO000D0D0O0OO400A MevVO 40MeVD OO0 600A MeVO 45MeVO OO0 800A MeVO 50MeV
0000000000000 0000000000000O x*0000000000ODODODODODOO
gboboobOoboooboobobooooobooooboboo
obooobOoboooobOoboooooboboooooboooooaon
oobooOoooboooboooooboooooooobboooooboooboooooboooboo0 ~00O00O
goooooboooooboobooogooboo

45



0000000000000 0000oooOoOOOOOO0OO0O0O0OOOOOOgsooMevnucleond
cooooogoe0DCOO0U0OOOUO0ODOOOODOOUODOOOOODOOUODODODOOODDODOO
gbooobooboooobooon

obooooOobooooobooooooon

46



20094E7 A EE

. ——30de
(3Si+In>m+ + X, E,..,,=400MeV/nucleon) &
450 - -E-45deg
%‘ —4—60deg
= 400 -
= —=-90deg
'_'a- 350 +
= ~—-120deg
=~ 300 -
g
w50 -
)
= 200 -
150 -+
100 -
50 -
0 T T T T !
0 20 40 60 30 100
n+ energy (MeV)
20095F10 A 28R
(3Si+In>1+ + X, Ep..,=600MeV/nucleon)
1400 - —+—30deg
=
g 1200 - -m-45deg
= ——60deg
vl
‘.:;:;_ 1000 - —75deg
‘é’ ==90deg
P 800 - ——120deg
5
T 600 -
400 -
200 -
0 ; ; ; ; )
0 20 40 60 20 100
n+ energy (MeV)
2009£E11 AR
(28Si+In=>n+ + X, E,..,=800MeV/nucleon)
1400 -
—o—-30deg
——A45deg
1200 4 ~—-60deg
——75deg
= 1000 -+ —m—90deg
% —+=120deg
=
& 800 -
=
=
g 600 -
wl
-
5
< 400 -
200 -
0 ; ; ; ; )
0 20 40 60 80 100

T+ energy

0324000n0000000000000 (MeV)OOO:O0OOOO (ub/syMeV)

47




34 ~40Qo0d

23000000 »~~ 004 0000000000000 DODODODOOOOOOOOODOOOOOO0
oooooOo0O00O0A 0 0000000000oo

0000000000000 000000000«~*00000000DO00OO9oLDOOUOOD
googooood

341 ~~0000O0
ooooOoOoOoOoOO0ODDODODO(@EMOODO ssooooono)

1. S 0000 (S00000000000000000O)0 ADCOOS50000 HistD GateAE
GateOOO)OOoODOO

2.S0000000000100006EGateddODOO
3.00000000000000
4. 0000000

000000000 0~ 0000000000000 0000000000O0O0O00O000O0O
gboboobobooobooboboooboobooooono
oboooOobooooboobooooobooon
Ox*0000000C0O0O0OODOODODODODODOO MeVYHOO
Ur-0b0ob0oooboboobooboobooboobobooboobooboooooobooooon
OO0-*00000000000MeVOOOOODODOOOOOOOOOOOOOO-A OOODOOO
oobooobooooobooobooooobooobooooobobooobooOooooooboboooon
obobooboobobobobobobobobobobobobOobobOobDOoDOobDOoobDoo
00000000
0 32500geant4dd 00 0000000000000 a0 »~ 0000000 OOOOO
gooooooossomnO00000Q0OOOoO30mmMOO0O0OAra"0 - 0000000000
ooo—[0Ooboooobobooooboobooboobooooboobooooobooboooo

48



100
90

100
90

energy
energy

80 80

70 70

RN R R AR RN AR AAARRRARANRRRY
B

60 60

50 50

T T T [T T[T [T T[T T[T T[T T [ TT T [TTTT

T
40 \ 40
T =
30 30 \\1
20 K 20
&%

10 10

) S B L M N B S U RN R FRU TR N ) S P M T TN NPT R e

0 5 10 15 20 25 30 35 40 45 50 0 5 10 15 20 25 30 35 40 45 50
energy energy

(a)r* (b) n*

0325 geanl 0000000000 30mm-30mni] 200 00000000000000000
0000000000000000000000000000000000000000000(a)
Ox0(0)0» 0000000

0325000000000 000000O0OO0O0OO00O0O0OO0OCOOOOOA O OO
00000000000~ 0 0000000000000 0O0O0O0O 1I0MeVvODODOOOOOODO
gooood
OoQ0O0O00 3250 i ODOODOOOOOOOOOOOCOCOOOOOOCOCOOOOpOODOOO
obooooOobooooobooooboboboo - oboooboo
obooooboob0 o000 obooob0oobooods0b00ob0ooooooobooDo
goboobooobooboboooboooboboooboooooooboooooooboooo
000~ 0p—»2°+n0000000000000000000000O0OOOOOO00000O0
gboocooOobooo—4oboooobooboooooboooobooboooooboboooonoo
oobooobootuobD ~~0ppy 0000000000000 0MeVvOOODOOOOOOODOODOO
goo

OO0ooooOoOoOoDOPDOOODOOOODOO 3260000

49



>
2
2 o0 o
“ 80 §soo?
70 500
60 F
400
50 r
40 300(—
30 E
200~
20 r
0 100 /\l
0k P 1 SO D TRV S TR W0 S TR RO B 0 i fih iy L A L L 1 o
0 200 400 600 800 1000 1200 1400 1600 1800 2000 0 200 400 600 800 1000 1200 1400 1600 1800 2000
PID PID
@00 »"+ 000 m+ 000000 PIDOOOO b)00 7#*+u™000 7+ 000000 PIDOODOO
= 9w
c L c L
3 3t
S100— 0100
80— 80—
60— 60—
40— 40—
20— 20
o ¥ il il A bl AR Bl bty P TI  rce n 7c EY OML L T Y RPN TR
100 200 300 400 500 600 700 800 900 100 200 30 400 00 600 700 800
PID PID
©)00 #t+u*000 7+ oD »~*000 ut
= w F
r s r
a4 8100
12— r
C 80—
10— L
8f eo}
6 L
10
4l L
| il :
\ 20
20 \ C *‘ ,
0: ALALILLL AL ‘v |” N w | | 0 L‘lﬂmﬁ e L ....M:.Im‘aﬂ.«h‘ﬂhﬂﬂ»}:#ﬂi.iuihi.i'!'..‘mu‘..‘,i.ﬂ i)
100 200 300 400 500 600 700 800 300 350 400 450 500 550
PID
(e)00 000 u OO0 A" 000 000 p*

03.26:Geanl 000000000000 DOODDOODOD@D ~ 0~ 0000000PIDODCOO
00000000000000000()0 ()0 PIDOOOOEI MO0yt 2, 00000
ooooo

50



0 3.26()00x*(0),»(0)0 x*(0)0000000000000000000OOO0O0OO00
000000000

Oo000O0OO0OO0OOADCO 10002000000 ~*0000000O0ODOOOOOOOOOOO
O00a*0»~*00000000C0CO0OOOOODOODODO
AEOO0OODODOO0OOOOO0ODOOOPIDOOOOOOOp*0x~0000000

AEGateO OO »* 000

O

O0O00 100000ADCOOSOOOOOOOO landauC O OOOODOODODDOODODOO FitO
000 3270000000000000000 FtODODODODODODODDODO FtOOOOOO AE Gate
000 cut00000000000(MO0)0DO0ODO0O0O0O0OD00O0OO0 FtODOOO "0 2 OO0
gboooboooooooobo

51



g r £ 35
5 25~ 3 F
o L o L
r 30—
20— B
r 25—
151 20
[ 15
10— E
E 10
5 F
C S
PSP I § AP R NI | i s i O ol
50 100 150 200 250 20
ADC(ch)
(@)choO FitO OO OOO Line (b)chlD FitOOOOOO Line
£ F £ 601
3 ool 8 F
r 50—
50— L
E 40—
40— =
B 30
30— F
20; 208
10/ 101~
0: L L P \\\’—H—\‘—wnnn‘m\\‘\ O: L o e
0 20 40 60 80 100 120 0 20 40 60 80 100 120 140
ADC(ch) ADC(ch)
(c)ch20 FitOO OO OO Line (dych30O FitOO OO OO Line
£ 45F- 2
8:; 40; é 251
35 E
30; 20;
BE 151
201 L
15F- 10~
10E- B
= 5
5 B
0 540 60 T80 Ol g %0
ADC(ch) ADC(ch)
(e)ch40 FitOOOOOO Line (fleh50 FitO OO OOO Line

0327 (@ (000 SO00000 »* 0 AEDDD landaud 0 (000D O0O0000)0 FitO O
00000 ADCO AEGateD 00000000000

0000 2.00000000C0000000 AEGateDOOOOOOOOOOODA~00CO

52



000000O00000000ADCO 10002000000000000000000
0000 ADCO GateD 0000000000000 OO0O000000C0OO0FtOOD AE Gate
0000000000000 ((0,10001000)000000000

O3 7:AEGateD 00O »* OO 0CO

| ADC (ch) || AEGateD DO DO |[0,1000[0 0000 [ #0000 (D) |

0 944.467 986.667 95.72
1 918.873 972.823 94.45
2 977.54 1027 95.18
3 972.901 1004.68 96.84
4 966.142 995.168 97.08
5 937.337 1052.54 89.05

03700000000 0000O0DOOO00ODOCOO000ODOODO0OOOOOoOoOoDOO
0000000000000 0@OOOOO ADCOODOOOODOOOOOOOOO9oOOOoOn
gooOoOoOoOoOoOO0OeOUUO0OUDOODOOObOObObOOOODODOD)

OO00O0ADCO AEGatel 00000 10000000 328120000000 3.290000

53



6ch stop event CHO for pi 6ch stop event CH1 for pi
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6ch stop event CHO for pi 6ch stop event CH1 for pi
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6ch stop event CHO for pi : 6ch stop event CH1 for pi
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038 /x*000000 (7O0D)

DD00000 | ratio | Aratio |

S5 3.80| 0.62
S, 252 | 0.27
S 2.02| 0.16
S 1.63| 0.11
S 1.14| 0.09
S 1.29 | 0.11
S 1.20| 0.12
Sio 1.04 | 0.12
Su 0.83| 0.12
Sz 1.05| 0.15

0397 /x*000000 (10000)

]DDDDDD H ratio\Aratio\

S; 3.47 | 0.40
S, 2.61| 0.19
S 1.67| 0.12
S 1.54| 0.07
S 1.25| 0.07
Ss 1.05| 0.07
S 0.99| 0.08
Sio 1.00 | 0.09
S 1.15| 0.10
Sz 1.21| 0.12

0310 /x* 000000 (11000)

000000 H ratio \ Aratio\

S; 2.70| 0.40
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